
 

 

 

Class : V  Subject: Mathematics         Unit 3- Addition & Subtraction 

 

Q1. Choose the correct option-  

   1) What should be added to 3,50,369 to get 10,00,000 ?  

         a)749631       b) 659631   c) 649631   d) 759631  

    2) The difference between the smallest 7 -digit number and the      greatest 6-

digit number is  

          a) 100            b) 1               c) 10              d) 0  

Q2. Solve the following:-  

a)  61,20,753+30, 91,714 +6,53,712  

 

 

 

 

 

 

b)  4,19,25,325 – 2,10,75,483  

 

 

 

 

 

 

Q3.  In a country, there are 3,13,14,175 men,  2,75,21,950 women and 

85,80,200 children. Find the population of the country.  
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